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¢ “Pradhan Mantri Jan-Dhan Yojna’ has been launchec

providing housing loan to poor people at cheaper
interest rates

promoting women’s Self-Help Groups in backward
areas

promoting financial inclusion in the country

providing financial help to the marginalized
communities




¢ Pradhan Mantri Jan Dhan Yojana (PMJDY), one of the
biggest financial inclusion initiatives in the world, wa:s
announced by Prime Minister, Shri Narendra Modi on 15tk
August 2014 from the ramparts of the Red Fort. \

¢ While launching the programme on 28th August, the Prime
Minister had described the occasion as a festival to
celebrate the liberation of the poor from a vicious cycle.

e Shri Narendra Modi had referred to the ancient Sanskrit
verse: Sukhasya Moolam Dharma, Dharmasya Moolam
Artha, Arthasya Moolam Rajyam - which puts the onus on
the state to involve people in economic activity. “




e With reference to the Fourteenth Finance Commissic
which of the following statements is/are correct?

A) It has increased the share of States in the central
divisible pool from 32 percent to 42 percent.

B) It has made recommendations concerning sector-
specific grants.

Select the correct answer using the code given below:

A) 1 only B) 2 only
C) Both 1 and 2 D) Neither 1 nor




¢ The commission recommends to increase the tax
devolution of the divisible pool to states to 42% for
years 2015 to 2020. This is 10% more compared to 32%
target set by 13th financial commission.

42% share to states is divided among different states as
under criteria/weightage

Area: 15%

Forest cover: 7.5%

Population: 17.5%

Income Distance: 50% (It is the distance of actual per

capita income of a state from the state with the highest
per capita)




e The ‘Fortaleza Declaration’, recently
related to the affairs of

A) ASEAN

B) BRICS
C) OECD
D) WT




The 6t BRICS Summit that was held in Fortaleza, Bra

The theme of the Summit was Inclusive Growth:
Sustainable Solutions.

The participating nations Brazil, Russia, India, China and |
South Africa jointly issued the Fortaleza Declaration.

BRICS Information Sharing and Exchange Platform will be
set up to facilitate trade and investment cooperation.

Agreement for setting up the New Development Bank

(NDB) with $100 billion corpus which will distribute the funds
equally among all the BRICS nations for mobilizing resources
for infrastructure and sustainable development projects in
BRICS.




e A decrease in tax to GDP ratio of a country indicates
which of the following?

1. Slowing economic growth rate
2. Less equitable distribution of national income

Select the correct answer using the code given below:

Both 1 and 2

A)
B) 2 only
C)
D) Neither 1 nor




The tax-to-GDP ratio is a ratio of a nation's tax reve
relative to its gross domestic product (GDP), or the
market value of goods and services a country produces..

The direct tax-to-GDP ratio of 5.98% achieved during the
2017-18 fiscal is the best in the last 10 years

A decrease in tax to GDP ratio of a country indicates: (B)
less equitable distribution of national income. ... Over a
period of time, this can cause a decrease in tax to GDP
ratio. This does not indicate slowing economic growth
rate; it simply means that tax revenues are not keeping
up with GDP growth.

Theoretically, tax revenue should increase as GDP
increases.




¢ |n the South Atlantic and South-Eastern Pacific regic

in tropical latitudes, cyclone does not originate. What
the reason?

A) Sea surface temperatures are low

B) Inter-Tropical Convergence Zone seldom occurs

C) Coriolis force is too weak

D) Absence of land in those regions




® There are two primary reasons why tropical
are rare in the south Atlantic basin.

e First, vertical wind shear between 850 mb and 200
mb is typically greater than 10 meters per second




¢ Which one of the following pairs of States of India
indicates the easternmost and westernmost State?

A) Assam and Rajasthan
B) Arunachal Pradesh and Rajasthan

C) Assam and Gujarat

D) Arunachal Pradesh and Gujarat




¢ Arunachal Pradesh and Gujarat States @
the easternmost and westernmost State resp




e Consider the following statements regarding the
Directive Principles of State Policy

1. The Principles spell out the socio-economic democracy
in the country.

2. The provisions contained in these Principles are not
enforceable by any court.

Which of the statements given above is/are correct?

)
) 2 only

) Both 1 and 2
)

A
B
C
D

Neither 1 nor




Directive Principles of State Policy aim to create sc
economic conditions under which the citizens can lead
good life.
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They also aim to establish social and economic democraéy
through a welfare state.

The principles have been inspired by the Directive Principles
given in the Constitution of Ireland

Directive Principles are classified under the following
categories economic and socialistic, political and
administrative, justice and legal, environmental, protection
of monuments, peace and security.




¢ In the ‘Index of Eight Core Industries’, which one o
following is given the highest weight?

A) Coal production
B) Electricity generation
C) Fertilizer production

D) Steel production




e Eight Core Industries are Electricity , steel, refine
products, crude oil, coal, cement, natural gas and
fertilizers. The Index of Eight Core Industries is a mont
production index, which is also considered as a lead
indicator of the monthly industrial performance.

¢ |IP data is released every month by CSO (Central
Statistical Office) which was set up in 1951

e Coal: 10.33, Crude Oil: 8.98, Natural Gas: 6.88
Refinery Products: 28.04, Fertilizers: 2.63, Steel: 17.92
Cement: 5.37, Electricity: 19.85




e Which of the following National Parks is unique in be

a swamp with floating vegetation that supports a rich
biodiversity?

A) Bhitarkanika National Park
B) Keibul Lamjao National Park
C) Keoladeo Ghana National Park

D) Sultanpur National Part




The Keibul Lamjao National Park is in Bishnupur dist
of the state of Manipur.

It is 40 square km in area
It is the only floating park in the world

It is an integral part of Loktak Lake

The national park is characterized by many floating
decomposed plant materials locally called phumdis

Sangai also called the dancing deer listed as an
endangered species by IUCN




e Which of the following statements is/are correct
regarding National Innovation Foundation-India (NIF):

NIF is an autonomous body of the Department of
Science and Technology under the Central
Government.

NIF is an initiative to strengthen the highly advanced
scientific research in India’s premier scientific
institutions in collaboration with highly advanced
foreign scientific institutions.

Select the correct answer using the code given below:

A) 1 only B) 2 only
C) Both 1 and 2 D) Neither 1 nor 2




The National Innovation Foundation (NIF) - India, is India
initiative to strengthen the grassroots technological innovatic
outstanding traditional knowledge.

Its mission is to help India become a creative and knowledge-ba
society by expanding policy and institutional space for grassroots
technological innovators. It was set up with the support of Honey Bee
Network.

NIF scouts, supports and spawns’ grassroots innovations developed by
individuals and local communities in any technological field, helping
in human survival without any help from formal sector.

It also tries to ensure that such innovations diffuse widely through
commercial and/or non-commercial channels, generating material or
non-material incentives for them and others involved in the value
chain.




e What can be the impact of excessive/inappropriate
of nitrogenous fertilizers in agriculture?

1. Proliferation of nitrogen-fixing microorganisms in soil
can occur.

2. Increase in the acidity of soil can take place.
3. Leaching of nitrate to the ground-water can occur.

Select the correct answer using the code given below:

A) 1 and 3 only B) 2 only
C) 2 and 3 only D)1, 2and 3




e Excessive use of N (urea) encourages climate change
(when lost through denitrification) and groundwater
pollution (when lost through leaching).

® Increase in nitrate content of groundwater in some
intensively-cropped areas has been reported, which is
obviously due to leaching of nitrates beyond crop root

Zone.

e |[ncrease in nitrate content of groundwater is
potentially harmful, as it is used for drinking purposes in
most of the rural areas.




e Unbalanced use of urea decreases N use efficiency, t
leads to increase in cost of production and lowering c
net profits.

¢ Inclusion of legumes may curtail fertilizer N (urea)
requirement by 25-50%. Depending on cropping system
and availability of irrigation, legumes could be
introduced as catch crop, green manures, forage crop,

break crop or as short duration grain crop.




With reference to the International Union for Conservat
Nature and Natural Resources (IUCN) and the Convention ¢
International Trade in Endangered Species of Wild Fauna a

Flora (CITES), which of the following statements is/are
correct?

1. IUCN is an organ of the United Nations and CITES is an
international agreement between governments.

IUCN runs thousands of field projects around the world to
better manage natural environments.

CITES is legally binding on the States that have joined it,
but this Convention does not take the place of national
laws.

Select the correct answer using the code given below:

A) 1 only B) 2 and 3 only
C) 1 and 3 only D)1, 2 and 3




IUCN means International Union for Conservation of Nat
Natural Resources

It is an International Organization working in the field of nat
conservation and sustainable use of natural resources. |

It is involved in data gathering and analysis, research, field
projects, advocacy, and education.

IUCN's mission is to "influence, encourage and assist societies
throughout the world to conserve nature and to ensure that any
use of natural resources is equitable and ecologically
sustainable”.




¢ Now IUCN have widened the scope as now they loo
the sustainable development

e They publish the IUCN Red List of Threatened Species.

¢ |UCN has a membership of over 1400 governmental and |
non-governmental organizations.
Its HQ is in Switzerland. It is not the part of UNO.




e The Fair and Remunerative Price (FRP) of sugarcane
approved by the

A) Cabinet Committee on Economic Affairs

B) Commission for Agricultural Costs and Prices

C) Directorate of Marketing and Inspection, Ministry of

Agriculture

D) Agricultural Produce Market Committee




The Cabinet Committee on Economic Affairs (CCEA) chaired by Pri
Minister Narendra Modi has approved the proposal in respect of
Determination of 'Fair and Remunerative Price’ of sugarcane payable
sugar mills for 2019-20 sugar season.

It was approved based on the recommendation of Commission for
Agricultural Costs and Prices (CACP).

The FRP set by the Centre is the minimum price that sugarcane farmers are

legally guaranteed. The government plans to recommend an 8 per cent
increase in the fair and remunerative price (FRP) of sugarcane over the
previous year, which the industry fears will make their operations unviable.

Keeping in view the interest of sugarcane farmers, the Cabinet Committee
on Economic Affairs chaired by Prime Minister Shri Narendra Modi has
approved the Fair and Remunerative Price (FRP) of sugarcane for sugar
season 2018-19 at Rs.275/- per quintal for a basic recovery rate of 10%;
providing a premium of Rs.2.75/-




e What explains the eastward flow of the equatorial
counter-current?

A) The Earth’s rotation on its axis

B) Convergence of the two equatorial currents

C) Difference in salinity of water

D) Occurrence of the belt of calm near the equator




e The earth rotates from west to east

e Water near the equator tends to move from east to
west due to the prevailing winds.

e So, while rotation of earth is the primary causative
factor for Equatorial Currents, it is the piling up of

water and subsequent back-flow under gravity which
causes the eastward flow of CEC.




e Consider the following pairs:

Place of Pilgrimage Location
1. Srisailam . Nallamala Hills
2. Omkareshwar . Satmala Hills
3. Pushkar . Mahadeo Hills

Which of the above is/are correctly matched?

A) 1 only B) 2 and 3 only
C) 1 and 3 only D) 1, 2 and.3




Srisailam is town in Kurnool district of Andhra Pradesh

The town is famous for Mallikarjuna Jyotirlinga Temple

The town is classified as both Jyotirlinga and Shakti Peetha'.;

Srisailam Dam is built over Krishna river is one of the largest
dams in South India.

Nagarjunasagar-Srisilam Tiger reserve is India’s largest tiger
reserve is spread over 3500 Sq. km.

The Nallamalla Range are part of Eastern Ghats which stretch
primarily over Kurnool, Nellore, Guntur, Prakasam, kaddapa
and Chittoor districts of Andhra Pradesh and Mahbubnagar and
Nalgonda districts of Telangana. The range runs between the
Krishna and Pennar rivers.




¢ Omkareshwar is a Hindu temple dedica

Shiva. It is one of the 12 revered Jyotirlinga"
Shiva.

e |t is on an island called Mandhata or Shivapuri in the
Narmada river at Khandwa.




e Pushkar is a city in the Ajmer district i

e Pushkar is on the western side of Aravalli Mountains




e Mahadeo Hills, sandstone hills located 1
part of the Satpura Range, in southern Madhye
Pradesh state, central India.

e Dhupgarh is the highest point of Mahadeo Hills




e With reference to Rowlatt Satyagraha, which of the
following statements is/are correct?

The Rowlatt Act was based on the recommendations o
the ‘Sedition Committee’.

In Rowlatt Satyagraha, Gandhiji tried to utilize the
Home Rule League.

Demonstrations against the arrival of Simon
Commission coincided with Rowlatt Satyagraha.

Select the correct answer using the code given below:

A) 1 only B) 1 and 2 only
C) 2 and 3 only D)1, 2and 3




Rowlatt Satyagraha was in response to the British governme
enacting the Anarchical and Revolutionary Crimes Act of 1919,
popularly known as the Rowlatt Act. Gandhiji called for a coun
campaign against the Rowlatt Act.
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The Rowlatt Act came into effect on 21 March 1919. The Act had
provision for Indefinitely extending the emergency measures of
preventive detention, without trial and judicial review.

It was the Rowlatt Act which brought Gandhi to the mainstream of
Indian struggle for independence

After the Jallianwala Bagh massacre on April 13, 1919 the Anti-
Rowlatt Satyagarh lost momentum. Moreover, the violence in Punjab,
Gujarat and Bengal deeply hurt Gandhi. Hence, M.K Gandhi call off
the movement.

The Rowlatt Act came to be repealed in 1922 by Viceroy Lord Reading




e Among the following, which were frequently mentic
in the news for the outbreak of Ebola virus recently?

A) Syria and Jordan
B) Guinea, Sierra Leone and Liberia
C) Philippines and Papua New Guinea

D) Jamaica, Haiti and Surinam




e The Western African Ebola virus epidemic (2013-2(
was the most widespread outbreak of Ebola virus
Disease (EVD) —causing major loss of life and
socioeconomic disruption in the region, mainly
in Guinea, Liberia and Sierra Leone.




e With reference to ‘fly ash’ produced by the power
plants using coal as fuel, which of the following
statements is/are correct?

Fly ash can be used in the production of bricks for
building construction.

Fly ash can be used as a replacement for some of the
Portland cement contents of concrete.

Fly ash is made up of silicon dioxide and calcium oxide
only, and does not contain any toxic elements.

Select the correct answer using the code given below:

A) 1 and 2 B) 2 only
C)1and 3 D) 3 only




¢ Fly ash is produced by coal-fired electric and stea
generating plants. Typically, coal is pulverized and blc
with air into the boiler's combustion chamber where it
immediately ignites, generating heat and producing a
molten mineral residue.

Fly ash particles (a major component of coal ash) can
become lodged in the deepest part of our lungs, where

they trigger asthma, inflammation and immunological
reactions.

Fly ash is a by product from burning pulverized coal in
electric power generating plants. ... As the fused material
rises, it cools and solidifies into spherical glassy

particles called fly ash. Fly ash is collected from the
exhaust gases by electrostatic precipitators or bag filters.




¢ Fly ash comes from one of the biggest sources of ai
pollution and carbon dioxide emissions on Earth, and
yet it's considered to be a green material.

e The main reason that fly ash is considered to be eco-
friendly when used in construction is because it's a
recycled material.

e Fly ash can be used as prime material in many cement-
based products, such as poured concrete, concrete
block, and brick. One of the most common uses of fly
ash is in Portland cement concrete pavement or PCC
pavement.




e With reference to ‘dugong’, a mammal found in Inc
which of the following statements is/are correct?

1. It is a herbivorous marine animal.

2. It is found along the, entire coast of India.

3. It is given legal protection under Schedule | of the

Wildlife (Protection) Act, 1972.
Select the correct answer using the code given below:

A) 1 and 2 B) 2 only
C)1and 3 D) 3 only




The dugong (/'dju:gon/; Dugong dugon) is a mediu
marine mammal. Herbivorous.

In India, dugongs are found in the Gulf of Mannar, Palk Bay,
Gulf of Kutch and Andaman and Nicobar Islands. Once found
in abundance in Indian waters, the dugong population has
reduced to about 200 individuals

Dugongs have a fluked tail, meaning it is made up of two
separate lobes joined together in the middle. The snout of
a dugong is broad, short, and trunk-like. Dugongs use their
flippers like hands,

Adult dugongs do not have any natural predators, but
juveniles may be eaten by saltwater crocodiles, killer
whales, and large, coastal sharks.




e Who of the following was/were economic critic/cri
of colonialism in India?

1. Dadabhai Naoroji

2. G. Subramania lyer

3. R. C. Dutt

e Select the correct answer using the code given below:

) 1 only

) 1 and 2 only
) 2 and 3 only
)1, 2 and 3

A
B
C
D




e Also known as “Grand Old Man of India” and “officic
Ambassador of India” He was a Parsi Scholar, trader a
Politician

He was a Liberal Party member of Parliament in UK
House of Commons between 1892 and 1895

He was first Asian to be a British MP.

Naoroji was one of the founding members of the Indian
National Congress

His book ’Poverty and Un-British Rule’ in India brought
attention to the draining of India’s wealth into Britain.
In it he explained his wealth drain theory




He was a lecturer, journalist, Lawyer entrepreneur.

He was a leading Indian journalist, social reformer and freedo
fighter who founded The Hindu' English newspaper on 20 Septem
1878. X

He along with Annie Besant founded the Home Rule Movement

He was popularly known as the "Grand Old Man of South India".

He also served as the first Indian Chief Justice of the Madras High
Court, before retiring in 1907.

He was one of the founding members of the Indian National
Congress. He used to attend sessions of the Congress until he
became a Judge of the High Court




He was an Indian civil servant, economic historian, writer anc
translator of Ramayana and Mahabharata.

He joined the Indian Civil Service as assistant magistrate and \,
collector. In 1883 he was the first Indian to be appointed district
magistrate

With Major B. D. Basu and Dada bhai Naoroji, Dutt formulated what

is now recognized as the classic diagnosis of the Indian economic
problem under colonial rule.

It emphasized the ‘drainage of wealth’ from India through home
charges payable to Britain and unrequited exports, the absence of
protection for India’s infant industries, and the negative implications
of even constructive efforts like the railways, which deprived many
providers of traditional transport services and facilitated the import
of British manufactured goods.




e Which one of the following issues the ‘Global Econa
Prospects’ report periodically?

A) The Asian Development Bank

B) The European Bank for Reconstruction and
Development

C) The US Federal Reserve Bank
D) The World Bank




e Global Economic Prospects are published by World Bank.

e The Report gives World Economic Prospects and also 6 Regic
Reports
East Asia & Pacific
Europe and Central Asia
Latin America and the Caribbean
Middle East and North Africa
South Asia
Sub-Saharan Africa

India is covered under South Asia. June Report of India:

In India, growth is estimated to have slowed to 4.2% in FY
2019/20, which ended in March 2020. Output is projected to
contract by 3.2% in FY 2020/21, when the impact of the
pandemic will largely hit.




e When the Reserve Bank of India reduces the Statutc
Liquidity Ratio by 50 basis points, which of the follow
is likely to happen?

India’s GDP growth rate increases drastically

Foreign Institutional Investors may bring more capital
into our country

Scheduled Commercial Banks may cut their lending
rates

It may drastically reduce the liquidity to the banking,
system




e The Statutory liquidity ratio (SLR) is the Governmen
term for the reserve requirement that commercial
banks are required to maintain in the form of cash, gold
reserves, Reserve Bank of India (RBI)- approved
securities before providing credit to the customers.

If SLR is reduced the commercial banks will have more

funds to land and they will be able to reduce the
interest rate too on loans. This will result in lowering of
cost of fund.

¢ More money in market will boost demand and therefore
production. Economy will grow.




e With reference to the use of nano-technology in hea
sector, which of the following statements is/are corre

1. Targeted drug delivery is made possible by
nanotechnology.

2. Nanotechnology can largely contribute to gene
therapy.

Select the correct answer using the code given below:

A) 1 only

B) 2 only
C) Both 1and?2
D) Neither 1 nor 2




Nanotechnology is a field of research and innovatio
concerned with building 'things’ - generally, materials
and devices - on the scale of atoms and molecules.

A nanometre is one-billionth of a metre: ten times the
diameter of a hydrogen atom.

The diameter of a human hair is, on average, 80,000
nanometres

Nanotechnology may be able to create many new
materials and devices with a vast range of applications
such as nanomedicine, nanoelectronics, biomaterials
enrgy production and consumer products.




Examples of application of Nanotechnology

Titanium dioxide nanoparticles have dia less than 100nm are use
sunscreens due to its ability to block UV radiation while remaini
transparent on the skin.

Silver nano-particles are used in food packaging, clothing

Carbon nano-tubes for stain-resistant textiles

Nanotechnology is being used in developing countries to help treat
disease and prevent health issues.

Purification and environmental clean-up applications include
the desalination of water, water filtration , wastewater treatment .

In industry, applications may include construction materials, and
military goods.




¢ In, India, markets in agricultural products are regu
under the

Essential Commodities Act, 1955

Agricultural Produce Market Committee Act enacted by
States

Agricultural Produce (Grading and Marking) Act, 1937

Food Products Order, 1956 and Meat and Food Products
Order, 1973




e An Agricultural Produce Market Committee (APMC) is
a marketing board established by a state government

e This is to ensure farmers are safeguarded from
exploitation by large retailers, as well as ensuring
the farm to retail price spread does not reach
excessively high levels.

e The first sale of agriculture produce can occur only at
the market yards (mandis) of APMC.




¢ Which one of the following is the natic
animal of India?

A) Saltwater crocodile

B) Olive ridley turtle

C) Gangetic dolphin
D) Gharial




e The Ministry of Environment and Forest declared
the Gangetic dolphin the national aquatic animal of

Ganges river dolphins prefer deep waters, in and around the
confluence of rivers. The distribution range of the Ganges
river dolphins in India covers seven states namely, Assam,
Uttar Pradesh, Madhya Pradesh, Rajasthan, Bihar, Jharkhand
and West Bengal.

¢ The International Union for Conservation of Nature (IUCN)
revised the threatened status of the Ganges river
dolphin from vulnerable to endangered as per IUCN Global
Red List guidelines . At present, it is thought that there are
about 3500 individuals of this species throughout its
distribution range .




¢ Vikramshila Gangetic Dolphin Sanctuary (VGDS) in
Bihar's Bhagalpur district, is the only sanctuary for
Gangetic Dolphin

¢ Dolphis are blind

e Water pollution, poaching, and fishing in the river have
also been a part of the reason for the population

decline.

e The Indus river dolphin eats crustaceans such as
prawns, as well as fish including gobies, catfish and
carp.




e With reference to Congress Socialist Party, conside
following statements:

1. It advocated the boycott of British goods and evasion
NREVES

2. It wanted to establish the dictatorship of proletariat.

3. It advocated separate electorate for minorities and
oppressed classes.

Which of the statements given above is/are correct?

) 1 and 2 only
) 3 only
)1, 2and 3
) None

A
B
C
D




The Congress Socialist Party was a Socialist group w
Indian National Congress.

It was founded in 1934 by Congress members who reject
what they saw as the anti-rational mysticism of Gandhi as
well as the sectarian attitude of the Communist Party of
India towards the Congress.

It was founded by Jai Prakash Narayan and Basawon Singh
among others

Portrait of Karl Marx was used

It was dissolved in 1948




e Consider the following statements:

1. The Rajya Sabha has no power either to reject or to
amend a Money Bill.

. The Rajya Sabha cannot vote on the Demands for
Grants.

. The Rajya Sabha cannot discuss the Annual Financial
Statement.

Which of the statements given above is/are correct?

1 and 2 only
2 and 3 only
1,2 and 3




It is open to Lok Sabha to accept or reject any or a
the recommendations of Rajya Sabha with regard to
a Money Bill.

The Lok Sabha has the powers to vote these
amendments out and then the Rajya Sabha can not
make any changes.

Article 110 of the Constitution of India defines what
a money bill is.

A money bill must be returned to the Lok Sabha within
14 days, or the bill is deemed to have passed both
houses in the form it was originally passed by the

Lok Sabha.




President can’t reject the money bill.

as per Article 111 of the Constitution of India,

the President has 2 options with reference to Money Bill
He can either give his assent to the bill OR withhold his
assent to the bill. He cannot send the bill back for
reconsideration of the Parliament.

A money bill can't be introduced in Rajya Sabha.
Such bills can originate only in Lok Sabha. If it is a
money bill , it can be only produced in the Lok Sabha i.e.
the lower house and not in the Rajya Sabha (Art. 109(1) ).

A bill is money bill or not, Speaker of Lok Sabha has final
say.




The separation of power between the judiciary and
the legislature

The jurisdiction of the central and provincial
governments

The powers of the Secretary of State for India and
Viceroy

None of the above




¢ |t was passed to expand participation of Indians in t
government of India.

* The Act embodied the reforms recommended in the report
of the Secretary of State for India, Edwin Montagu, and the
Viceroy, Lord Chelmsford.

e The Act covered ten years, from 1919 to 1929.

e Dyarchy, also spelled diarchy, system of double
government introduced by the Government of India Act
(1919) for the provinces of British India.

e |t marked the first introduction of the democratic
principle into the executive branch of the British
administration of India.




¢ Which of the following brings out the ‘Consumer Price
Index Number for Industrial Workers?

A) The Reserve Bank of India

B) The Department of Economic Affairs

C) The Labour Bureau

D) The Department of Personnel and Training




e Consumer price Index Numbers for Industrial
Workers (Base 1982=100) is desighed to measure a
change over time in prices of a given basket of goods
and services consumed Industrial Workers.

¢ |t is maintained by Labour Bureau on a regular monthly
basis are as under:- (a) Consumer Price Index

Numbers for. Industrial Workers (CPI-IW) base
2001=100.




In the context of modem scientific research, consic
the following statements about ‘lceCube’, a particle
detector located at South Pole, which was recently in

the news:

1. It is the world’s largest neutrino detector,
encompassing a cubic kilometre of ice.

2. It is a powerful telescope to search for dark matter.

3. It is buried deep in the ice.
Which of the statements given above is/are correct?

A) 1 only B) 2 and 3 only
C) 1 and 3 only D)1, 2and 3




¢ The IceCube Neutrino Observatory covers one cukt
kilometer near the South Pole. The instrument cove
square kilometer of the surface and extends down to 4

feet (1,500 meters) deep. It is the first gigaton neutrino
detector ever built.

It is designed to observe the cosmos from deep within the
South Pole ice. An international group of scientists
responsible for the scientific research makes up the
lceCube Collaboration.

e Objective is to study events like exploding stars, gamma-
ray bursts, and cataclysmic phenomena involving black
holes and neutron stars.




e The terms ‘Agreement on Agriculture’, ‘Agreemen

the Application of Sanitary and Phytosanitary Measu
and ‘Peace Clause’ appear in the news frequently in t
context of the affairs of the

A) Food and Agriculture Organization

B) United Nations Framework Conference on Climate
Change

C) World Trade Organization

D) United Nations Environment Programme




e The Agreement on the Application of Sanitary and
Phytosanitary Measures sets out the basic rules for
food safety and animal and plant health standards.

e |t allows countries to set their own standards.

¢ They should be applied only to the extent necessary to
protect human, animal or plant life or health.




e With reference to ‘Near Field Communication (NF
Technology’, which of the following statements is/are
correct?

It is a contactless communication technology that uses
electromagnetic radio fields.

NFC is designed for use by devices which can be at a

distance of even a metre from each other.

NFC can use encryption when sending sensitive
information.

Select the correct answer using the code given below:

A) 1 and 2 only B) 3 only
C) 1 and 3 only D)1, 2and 3




e Near Field Communication (NFC) is a short-range
wireless connectivity standard (Ecma-340, ISO/IEC
18092) that uses magnetic field induction to
enable communication between devices when they're
touched together, or brought within a few centimeters
of each other.

Near Field Communication (NFC) is a set of short-range
wireless technologies, typically requiring a distance of
4cm or less to initiate a connection. NFC allows you to
share small payloads of data between an NFC tag and
an Android-powered device, or between two Android-

powered devices.

The only difference between the Bluetooth and NFC is
the distance.




e The area known as ‘Golan Heights’ sometimes appes
in the news in the context of the events related to

A) Central Asia
B) Middle East

C) South-East Asia

D) Central Africa




¢ The Golan Heights is the area captured from Syria a
occupied by Israel during the 1967 Six-Day War, territc
which has been administered as part of Israel since 1981

This region includes the western two-thirds of the
geological Golan Heights and the Israeli-occupied part of
Mount Hermon.

A ceasefire was signed on 11 June 1967 and the Golan
Heights came under Israeli military administration.

During and immediately following the state's creation in
1948, Israel expropriated approximately 4,244,776 acres
of Palestinian land. In the process, more than

400 Palestinian cities and towns were systematically
destroyed by Israeli forces or repopulated with Jews.




e Convertibility of rupee implies

A) being able to convert rupee notes into gold

B) allowing the value of rupee to be fixed by market
forces

C) freely permitting the conversion of rupee to other
currencies and vice versa

D) developing an international market for currencies in
India




Convertibility is the ease with which a country’'s
currency can be converted into gold or another curre
through global exchanges.

India’s rupee is a partially convertible currency—
rupees can be exchanged at market rates in certain
cases, but approval is required for larger amounts.

Today, the rupee is fully convertible on the current
account, allowing it to be converted into other
currencies and vice versa for transactions such as export
and import of goods and services.

But it is only partially convertible on the capital
account.




e Consider the following Pairs :

Medieval Indian Present Region State
1. Champaka : Central India
2. Durgara : Jammu

3. Kuluta : Malabar

Which of the above pairs is/ are correctly matched?

A) 1 and 2 B) 2 only
C)1and 3 D) 3 only




e States such as Champaka (Chamba), D
Trigarta (jalandhar), Kuluta (Kulu), Kumaon »
managed to remain outside the main areas of conflict
the northern plains.




e Consider the following rivers:
1. Vamsadhara

2. Indravati

3. Pranahita

4. Pennar

Which of the above are tributaries of Godavari?

A)1,2and 3 B) 2, 3and 4
C)1, 2 and 4 D) 2 and 3 only




e The major tributaries of the river can be classified ¢

e the left bank tributaries which include
the Purna, Pranhita, Indravati and Sabari
covering nearly 59.7% of the total catchment area of
the basin and

¢ the right bank
tributaries Pravara, Manjira, Manair together
contributing 16.1% of the basin.




e When a bill is referred to a joint sitting of both the
Houses of the Parliament, it has to be passed by

A) a simple majority of members present and voting

\

B) three-fourths majority of members present and voting

C) two-thirds majority of the Houses

D) absolute majority of the Houses




¢ The Parliament of India is bicameral. The joint sit
the Parliament is called by the President (Article 108
is presided over by the Speaker or, in his absence, by t
Deputy Speaker of the Lok Sabha or in his absence, the *
Deputy-Chairman of the Rajya Sabha.

So far, Joint Session of the Parliament of India has been
called for only three bills that have been passed at joint

sessions: the Dowry Prohibition Act, 1961, the Banking
Service Commission Repeal Bill, 1978, and the Prevention
of Terrorism Act, 2002.

In a joint sitting of Parliament, a bill is passed simply by
the majority of the both the members of the house present
and voting.




e Which one of the following regions of Indian has a

combination of mangrove forest, evergreen forest a
deciduous forest?

A) North Coastal Andhra Pradesh

B) South-West Bengal

C) Southern Saurashtra

D) Andaman and Nicobar Islands




The Andaman and Nicobar Islands comprises of 572 islands of

are inhabited.

Andaman Islands and Nicobar Islands separated by the 150 km wid"

Degree Channel on the 10 Degree North Parallel

The Andaman and Nicobar Islands have a tropical rainforest canopy,
The South Andaman forests have a profuse growth of epiphytic
vegetation mostly ferns and orchids.

The Middle Andamans harbours mostly moist deciduous forests.
North Andaman have wet evergreen forests

North Nicobar are completely devoid of evergreen forests

Grasslands occur only in the Nicobar.




e Which of the following kingdoms were associated
the life of the Buddha?

1. Avanti
2. Gandhara
3. Kosala
4. Magadha

Select the correct answer using the code given below:

A) 1,2 and 3 B) 2 and 3 only
C)1,3and 4 D) 3 and 4 only




he kingdoms of Gandhara and Kosala were related to Gau
Buddha's life. His mother was a princess from the Kosalan d

Buddha wandered through the towns and villages in the kingdc
of Kosala and Magadha teaching his philosophy. "

The word Buddha means “enlightened.” The path to
enlightenment is attained by utilizing morality, meditation and

wisdom.

Buddhism encourages its people to avoid self-indulgence but also
self-denial. Buddha's most important teachings, known as The Four
Noble Truths, are essential to understanding the religion.

Buddhists believe that nothing is fixed or permanent and that
change is always possible




e Which one the following is associated with the issue
control and phasing out of the use of ozone-depleting
substances?

A) Bretton Woods Conference

B) Montreal Protocol

C) Kyoto Protocol

C) Nagoya Protocol




¢ The Bretton Woods Conference, formally known a
United Nations Monetary and Financial Conference,
was the gathering of 730 delegates from all 44 Allied
nations at the Mount Washington Hotel, situated ».
in Bretton Woods, New Hampshire, United States, to
regulate the international monetary and financial order




e The Montreal Protocol is an international treaty
designed to protect the ozone layer by phasing out th
production of numerous substances that are responsible

for ozone depletion. It was agreed on 16th September
1987, and entered into force on 1st January 1989.




e The Nagoya Protocol addresses traditional knowled
associated with genetic resources with provisions on
access, benefit-sharing and compliance. It also
addresses genetic resources where indigenous and local
communities have the established right to grant access
to them.

India, along with 10 other countries, has sighed

the Nagoya Protocol on Genetic Resources, with an aim
to promote sustainable use of biological diversity.

Nagoya is the fourth largest city in Japan and sits in the
charming Aichi region of the country. It is

best known perhaps for being the center of the
automotive industry in Japan




e Targets for the first commitment period The target
the first commitment period of the Kyoto
Protocol cover emissions of the six main greenhouse
gases.

Kyoto Protocol failed. Many argue that Kyoto's
failure is due to deficiencies in the structure of the
agreement, such as the exemption of developing

countries from reductions requirements, or the lack of
an effective emissions trading scheme.




e Consider the following:
The arrival of Babur into Indian led to the
1. introduction of gunpowder in the subcontinent

2. introduction of the arch and dome in the region’s
architecture

3. establishment of Timurid dynasty in the region
Select the correct answer using the code give below:

) 1 and 2 only
) 3 only

) 1 and 3 only
)1, 2 and 3

A
B
C
D




¢ The Timurid dynasty was a Sunni Muslim dynasty

¢ Timurid dynasty moves on to conquer India under the
leadership of Zahir-ud-din Muhammad Babur in 1526
C.E. and established the Timurid dynasty of India.




e The Government of India has established NITI Aayog
replace the

A) Human Rights Commission
B) Finance Commission

C) Law Commission

D) Planning Commission




e NITI AAYOG (NATIONAL INSTITUTION FOR
TRANSFORMING INDIA)

e |ts function is to foster cooperative federalism through
structured support initiatives and mechanisms with the -
States on a continuous basis, recognizing that strong
States make a strong nation.

e While designing strategic and long term policies and
programmes for the Government of India, NITI
Aayog also provides relevant technical advice to the
Centre and States.

¢ |t is neither a constitutional body nor a statutory body.




e What is Rio+20 Conference, often mentioned in the
news?

It is the United Nations Conference on Sustainable
Development

It is a Ministerial Meeting of the World Trade
Organization

It is a Conference of the Inter-governmental Panel on
Climate Change

It is a Conference of the Member Countries of the
Convention on Biological Diversity




Rio + 20 Conference was United Nations Conference
Sustainable Development.

Rio+20 - took place in Rio de Janeiro, Brazil on 20-22 "
June 2012. |

It resulted in a focused political outcome document
which contains clear and practical measures for
implementing sustainable development.

The Rio Summit produced conventions dealing with
climate change, biodiversity, forestry and recommended
a list of development practices called ‘Agenda 21'.
Compromise and accommodation are the two essential
policies required by states to save planet Earth.




e Consider the following statements:

1. The Executive Power of the Union of India is vested
the Prime Minister.

. The Prime Minister is the ex officio Chairman of the
Civil Services Board.

Which of the statements given above is/are correct?




Civil Services Board is responsible for the entry leve
recruitment and subsequent job promotions below the
of Joint Secretary to Government of India.

The highest ranking civil servant is the Cabinet Secretarj}.i
He is ex-officio Chairman of the Civil Services Board

The Civil Services refer to the career bureaucrats who

are the permanent executive branch of the Republic of
India.

The Government of India has also approved the formation
of two new cadres of civil servants: the Indian Skill
Development Service (2015) and the Indian Enterprise
Development Service (2016).




e The executive executes and enforces law. In politic:
systems based on the principle of separation of powe
authority is distributed among several branches
(executive, legislative, judicial)—an attempt to preven
the concentration of power in the hands of a single
group of people.

e The executive power is vested mainly in the President

of India, as per Article 53(1 ) of the constitution.

e The president is to act in accordance with aid and
advice tendered by the Prime Minister of India, who
leads the Council of Ministers of Republic of India as
described in Article 74 of the Constitution of India.




e The term ‘Goldilocks Zone’ is often seen in the new
the context of

A) the limits of habitable zone above the surface of the
Earth

B) region inside the Earth where shale gas is available

C) search for the Earth-like planets in outer space

D) search for meteorites containing precious metals




¢ The Goldilocks Zone refers to the habitable zone a
star where the temperature is just right - not too hot
not too cold - for liquid water to exist on an planet. ...
Looking for planets in the Goldilocks Zone is a way that
allows scientists to hone in their search for Earth-like
planets that could contain life

e The moon is within the Goldilocks Zone.

e The Goldilocks principle is named by analogy to the
children’s story "The Three Bears", in which a little
girl named Goldilocks tastes three different bowls of
porridge and finds that she prefers porridge that is neither
too hot nor too cold, but has just the right temperature.




e Who of the following organized a March on the Tan
coast to break the Salt Law in April 19307

A) V. 0. Chidambaram Pillai
B) C. Rajagopalachari
C) K. Kamaraj

D) Annie Besant




e Rajagopalachari Organized a March on the Tanjore
coast to break the salt Law in April 1930.

e The march that had on the point of one hundred fifty
volunteers, most of whom belonged to the Indian
National Congress.

e The Salt March, which took place from March to April

1930 in India, was an act of civil disobedience led by
Mohandas Gandhi to protest British rule in India.




e Who of the following founded a new city on the so
bank of a tributary to river Krishna and undertook to
rule his new kingdom as the agent of a deity to whom

all the land south of the river Krishna was supposed to
belong?

A) Amoghavarsha |
B) Ballala Il

C) Harihara |

D) Prataparudra |l




e Harihara |, was the founder of the Vijayanagara emg
which he ruled from 1336 to 1356 CE He and his
successors formed the Sangama dynasty, the first of fol “

dynasties to rule the empire.
He was Bhavana Sangama'’s eldest son.

Harihar and Bukka are two brothers who founded the

independent Hindu kingdom of Vijaynagar.

They were the sons of Sangama - a chieftain at the
court of the Hoysala rulers. TheVijyanagar kingdom -
situated on the southern bank of the river Tungabhadra,
was perhaps the most famous empire in the history of

South India.




e Consider the following statements:

1. The first woman President of the Indian National
Congress was Sarojini Naidu.

2. The first Muslim President of the Indian National
Congress was Badruddin Tyabji.

Which of the statements given above is/are correct?




Womesh Chunder Bonnerjee became first president

Sonia Gandhi is the longest serving president of the
Congress party 1998-2017

The first Muslim President of the Indian National
Congress was Badruddin Tyabji.

First woman president of an INC session was Annie
Besant

First Indian woman President of INC was Sarojini Naidu




e Which of the statements regarding ‘Green Climate
Fund’ is/are correct?

1. It is intended to assist the developing countries in
adaption and mitigation practices to counter climate
change.

2. It is founded under the aegis of UNEP, OECD, Asian

Development Bank and World Bank.

Select the correct answer using the code given below:

A) 1 only

B) 2 only

C) Both 1 and 2
D) Neither 1 nor 2




It was set up by the United Nations Framework
Convention on Climate Change (UNFCCC) in 2010.

The Green Climate Fund (GCF) is the world's largest
dedicated fund helping developing countries reduce thelr
greenhouse gas emissions and enhance their ability to
respond to climate change.

Fund: $10.3 billion

The Paris Agreement’s long-term temperature goal is to
keep the increase in global average temperature to well
below 2 ° C above pre-industrial levels; and to pursue
efforts to limit the increase to 1.5 ° C, recognizing that
this would substantially reduce the risks and impacts of
climate change.




¢ |ndira Gandhi Prize for Peace, Disarmament and

Development for 2014 was given to which one of the
following?

A) Bhabha Atomic Research Centre

B) Indian Institute of Science

C) Indian Space Research Organization

D) Tata Institute of Fundamental Research




¢ The Indira Gandhi Prize or the Indira Gandhi Peace
Prize or the Indira Gandhi Prize for
Peace, Disarmament and Development is the
prestigious award accorded annually by Indira
Gandhi Memorial Trust

It is given to individuals or organisations in recognition
of creative efforts toward promoting

international peace, development and a new
international economic order, ensuring that scientific
discoveries are used for the larger good of humanity and
enlarging the scope of freedom

The prize carries a cash award of 2.5 million Indian Rs.
and a citation




e With reference to the Cabinet Mission, which of the
following statements is/are correct?

1. It recommended a federal government.

2. It enlarged the powers of the Indian courts.

3. It provided for more Indians in the ICS.

Select the correct answer using the code given below:




e The Cabinet Mission came to India aimed to discuss
transfer of powers from the British government to the
Indian leadership, with the aim of preserving India’s uni
and granting its independence. "

The members of the Cabinet Mission were: Lord Penthick-
Lawrence, Secretary of State for India, Sir Stafford
Cripps, President of the Board of Trade, and A.V
Alexander, First Lord of Admiralty.

The cabinet mission plan of 1946 proposed that there shall
be a Union of India which was to be empowered to deal
with the defense, foreign affairs and communications. It
provided that all the members of the

Interim cabinet would be Indians and there would be
minimum interference by the Viceroy.




¢ Which one of the following National Parks has a cli

that varies from tropical to subtropical, temperate a
arctic?

A) Khangchendzonga National Park

B) Nandadevi National Park
C) Neora Valley National Park

D) Namdapha National Park




Namdapha National Park is about 2000 square km. i
Arunachal Pradesh.

There are more than 1000 floral and about 1400 faunal
species. It is a biodiversity hotspot. \

Park has Evergreen rainforests also temperate broad
leaf and mixed forest. Park ha s extensive bamboo

forests.

It also has dipterocarp forests. Trees having two winged
fruits . Found in Evergreen forests

It has a climate that varies from tropical to subtropical,
temperate and arctic?




e Amnesty International is

A) an agency of the United Nations to help refugees of
civil wars

B) a global Human Rights Movement

C) a non-governmental voluntary organization to help very

poor people

D) an inter-governmental agency to cater to medical
emergencies in war-ravaged regions




e Amnesty International is a global movement of mo
than 7 million people in over 150 countries and
territories who campaign to end abuses of human rights,

e Amnesty draws attention to human rights abuses and
campaigns for compliance with international laws and
standards. It works to mobilize public opinion to
generate pressure on governments where abuse takes
place.

e Amnesty International was founded in 1961 by Peter
Benenson, a British lawyer. It is a NGO. HQ in UK.

e Amnesty International is the world's largest human
rights movement, with more than 7 million supporters in
more than 150 countries.




e With reference to the art and archaeological histo

India, which one among the following was made
earliest?

A) Lingaraja Temple at Bhubaneswar

B) Rock-cut Elephant at Dhauli

C) Rock-cut Monuments at Mahabalipuram

D) Varaha Image at Udayagiri




Lingaraja Temple is a Hindu temple dedicated to Si
is one of the oldest temples in Bhubaneswar, Odisha

The central tower of the temple is 55 m tall.
The temple represents Kalinga architecture

The temple is believed to be built by the kings from the
Somavamsi dynasty and later additions by Ganga rulers.

Shiva is worshipped as Harihara, a combined form of Vishnu
and Shiva.

The temple in its present form dates back to the last
decade of the eleventh century. There is evidence that
part of the temple was built during the sixth century CE as
mentioned in some of the seventh century Sanskrit texts




The rock-cut elephant above the Edicts is the earlie
Buddhist sculpture of Odisha. The stone elephant sha
the animal's foreparts only.

Dhauli is located on the banks of river Daya, 8 km from \
Bhubaneshwar

Dhauli hill is presumed to be the area where the Kalinga
war was fought.

There are Kilinga Edicts. He expresses concern for the
world

The rock-cut elephant above the Edicts is the
earliest Buddhist sculpture of Odisha.

It is one of the few remains of Mauryan Art.




¢ Mahabalipuram is one of the oldest cities in India.
day, it is known for its great monuments, cave sanctus
and sculptures.

¢ Mahabalipuram is famous for its vast beach, monoliths,
stone carvings and temples.

e As one of the Group of Monuments at Mahabalipuram, it
has been classified as a UNESCO World Heritage Site since
1984. It is one of the oldest structural (versus rock-cut)

stone temples of South India.

e The Group of Monuments at Mahabalipuram is a collection
of 7th- and 8th- century CE religious monuments in the
coastal resort town of Mahabalipuram,




The Udayagiri Caves are twenty rock-cut caves neal
Vidisha, Madhya Pradesh from the early

The man-boar Varahaavatar found in Udayagiri itself is_’,
story found in . |

Lord Vishnu took the Varaha Avatar to save the Earth

When a demon named Hiranyaksha dragged the earth to
the bottom of the sea, Vishnu took the form of a boar in
order to rescue it. They fought for a thousand years.

The site at Udayagiri Caves was the patronage of
Chandragupta Il, who is widely accepted by scholars to
have ruled the Gupta Empire in central India between c.
380-414 CE. The Udayagiri Caves were created in final
decades of the 4th-century, and consecrated in 401 CE.




e With reference to Indian history, which of the follo
is/are the essential element/elements of the feudal
system?

1. A very strong centralized political authority and a very
weak provincial or local political authority |

2. Emergence of administrative structure based on control

and possession of land

3. Creation of lord-vassal relationship between the feudal
lord and his overlord

Select the correct answer using the code given below:

A) 1 and 2 only B) 2 and 3 only
C) 3 only D)1, 2 and 3




A feudal system (also known as feudalism) is a type of sociz
political system in which landholders provide land to tenants
exchange for their loyalty and service.

The word ‘feudalism’ derives from the medieval Latin terms feuda
meaning fee, and feodum, meaning fief. The fee signified the land
given (the fief) as a payment for regular military service.

Feudalism is defined as a Medieval European political, economic and

social system from the 9th to 15th century.

Feudalism is the name given to the system of government William
| introduced to England after he defeated Harold at the Battle of
Hastings.

In a feudal system, a peasant or worker known as a vassal received a
piece of land in return for serving a lord or king, especially during
times of war.




e ‘BioCarbon Fund Initiative for Sustainable Forest
Landscapes’ is managed by the

A) Asian Development Bank

B) International Monetary Fund

C) United Nations Environment Programme

D) World Bank




The BioCarbon Fund Initiative for Sustainable Forest
Landscapes (ISFL)

It was launched at the UNFCCC COP19 in Warsaw, Poland

It is a multilateral fund, supported by donor governments
and managed by the World Bank.

The BioCarbon Fund Initiative for Sustainable Forest
Landscapes (ISFL) collaborates with countries around the
world to reduce emissions from the land sector through

smarter land-use planning, policies, and practices.

Including efforts to reduce deforestation and forest
degradation in developing countries (REDD+), sustainable
agriculture




¢ India is a member of which among the following?
1. Asia-Pacific Economic Cooperation
2. Association of South-East Asian Nations

3. East Asia Summit.

Select the correct answer using the code given below:

A) 1 and 2 only B) 3 only
C)1,2and 3 D) India is a member
of none of them




e APEC (Asia-Pacific Economic Cooperation) is an
intergovernmental forum dedicated to promoting free
trade and investment, economic growth and
development, and cooperation in the Asia-

Pacific region. It operates on the basis of non-binding
commitments and open dialogue

It was established in November 1989

APEC's 21 Member Economies are the United States;
Australia; Brunei Darussalam; Canada; Chile; China;
Hong Kong, China; Indonesia; Japan; Malaysia; Mexico;
New Zealand; Papua New Guinea; Peru; The Philippines;
Russia; Singapore; Republic of Korea; Chinese Taipei;
Thailand; and Viet Nam.




¢ India has requested membership in APEC, and receive
initial support from the United States, Japan, Australia
Papua New Guinea. Officials have decided not to
allow India to join for various reasons, considering
that India does not border the Pacific Ocean, which all
current members do.

India’s entry into Apec has been blocked due to different

reasons, namely its unfair treatment of foreign direct
investments in the country and its perceived inability to carry
out steady economic reforms.

APEC has grown to become a dynamic engine of economic
growth and one of the most important regional forums in the
Asia-Pacific. As a result of APEC's work, growth has soared in
the region, with real GDP increasing from USD 19 trillion in
1989 to USD 46.9 trillion in 2018.




¢ The Association of Southeast Asian Nations is a regiona

intergovernmental organization comprising ten countries
Southeast Asia

Southeast Asia is composed of eleven countries of impressive
diversity in religion, culture and history: Brunei, Burma
(Myanmar), Cambodia, Timor-Leste, Indonesia, Laos, Malaysia,
the Philippines, Singapore, Thailand and Vietnam.

The Association of Southeast Asian Nations (ASEAN) is a

regional grouping that promotes economic, political, and
security cooperation among its members.

India could not become the member of this association due to
her geographical location. India is a part of South-Asia while
the ASEAN is an organisation of South-East Asian Nations. On
July 23, 1996; ASEAN gave advisory status to India.




e The East Asia Summit (EAS) is a regional forum helc
annually by leaders of, initially, 16 countries in the Ec
Asian, Southeast Asian, South Asian and Oceanian
regions, based on the ASEAN Plus Six mechanism.
Membership expanded to 18 countries including Russia
and the United States at the Sixth EAS in 2011.

Apart from the 10 ASEAN member states, East Asia

Summit includes India, China, Japan, Republic of Korea,
Australia, New Zealand, United States and Russia.

e The East Asia Summit (EAS) established in 2005 is a
forum of 18 regional leaders for strategic dialogue and
cooperation on the key political, security, and economic
challenges facing the Indo-Pacific region.




¢ In India, the steel production industry
import of

A) Saltpetre
B) rock phosphate

C) coking coal

D) All of the above




e Potassium nitrate is one of several nitrogen-contain
compounds collectively referred to
as saltpeter or saltpetre. Major uses of potassium
nitrate are in fertilizers, tree stump removal, rocket
propellants and fireworks. It is one of the major
constituents of gunpowder (black powder).

It is used as a preservative in cured meat and an
ingredient in toothpaste for sensitive teeth. Many
decades ago, doctors prescribed potassium nitrate
for asthma and arthritis.

Saltpeter (potassium nitrate) has been used in fertilizer
and fireworks.




e Phosphorite, phosphate rock or rock phosphate is a
detrital sedimentary rock that contains high amounts
phosphate minerals.

It is used as a raw material in the manufacture of
inorganic phosphorus fertilizers and can be used as
organic phosphorus fertilizers when applied directly to the
soil. Direct application of rock phosphate increases crop

yield and soil phosphorus levels

Phosphorus promotes strong roots and more blooms; the
available calcium in Rock Phosphate builds stronger, more
pest and disease resistant plants.

Ninety percent of the world's mined phosphate rock
is used in agriculture and food production, mostly
as fertilizer.




e Steel is made primarily in a two-step process.

¢ |n the primary steelmaking step, liquid iron is
converted into steel by the basic oxygen furnace (BOF)
process, or by melting scrap steel or direct reduced iron
(DRI) in an electric arc furnace. "

® The three main ingredients of iron in the form of iron
ore, coke and lime, which are fed into a blast furnace
to produce molten iron.

e The molten iron is mixed with recycled steel scrap and
further processed in a basic oxygen furnace to make
steel.




e The provisions in Fifth Schedule and Sixth Schedule
the Constitution of India are made in order to

A) protect the interests of Scheduled Tribes

B) determine the boundaries between States

C) determine the powers, authority and responsibilities of

Panchayats

D) protect the interests of all the border States




¢ Fifth and Sixth Schedules were discussed and passe€
Constituent Assembly between September 5-7, 1949.
two schedules provide for alternate or special governa
mechanisms for certain 'scheduled areas' in mainland anc
certain ‘tribal areas’ in north eastern India.

e The Sixth Schedule consists of provisions for the
administration of tribal areas in Assam, Meghalaya, Tripura

and Mizoram, according to Article 244 of the Indian
Constitution. The sixth schedule to the Constitution
includes 10 autonomous district councils in 4 states.

e The Fifth Schedule of the Constitution deals with the
administration and control of Scheduled Areas as well as
of Scheduled Tribes residing in any State other than the

States of Assam, Meghalaya, Tripura and Mizoram.




e With reference to the Union Government, considel
following statements:

1) The Department of Revenue is responsible for the
preparation of Union Budget that is presented to the
Parliament.

2) No amount can be withdrawn from the Consolidated
Fund of India without the authorization from the
Parliament of India.

3) All the disbursements made from Public Account also
need the authorization from the Parliament of India.

Which of the statements given above is/are correct?

A) 1 and 2 only B) 2 and 3 only
C) 2 only D) 1,2 and 3




e Public Account of India accounts for flows for tho
transactions where the government is merely acting ¢
banker. Description: This fund was constituted under
Article 266 (2) of the Constitution. It accounts for flows
for those transactions where the government is merely
acting as a banker.

Comptroller and Auditor General is an independent

authority under the Constitution of India. The office of
the Accountant General was established in 1858. He is
the head of the Indian audit and account

department and chief Guardian of Public purse.




e Consolidated Fund of India is the most important o
government accounts. Revenues received by the
government and expenses made by it, excluding the
exceptional items, are part of the Consolidated Fund.
Description: This fund was constituted under Article 266
(1) of the Constitution of India.

e Article 266(1) of the Constitution of India requires

revenues received (direct and indirect taxes, money
borrowed) by the Government of India and expenses
(receipts from loans given by the government),
excluding the exceptional items, are part of
consolidated fund.

e The Secretary, Finance Ministry holds this fund on
behalf of the President of India.




e According to Article 112 of the Constitution of India
Union Budget of a year is a statement of the estimate
receipts and expenditure of the government for that

particular year.

Budget is made through a consultative process
involving ministry of finance, NITI Aayog and spending
ministries.

The Budget Division of the Department of Economic
Affairs in the Ministry of Finance responsible for
producing the Union Budget issues a circular to all the
Union ministries, states, Union Territories , defence
forces, autonomous bodies and departments to prepare
the estimates for the coming year.




e Who/Which of the following is the custodian of the
Constitution of India?

A) The President of India
B) The Prime Minister of India

C) The Lok Sabha Secretariat

D) The Supreme Court of India




The Supreme Court is the custodian of the Constitut
of India.

The president is the nominal custodian of the Indian
constitution

The supreme court is called the guardian of
the Constitution as it protects the fundamental rights

of citizens from being getting violated by any organ of
the government.

It protects the fundamental rights. It can declare any
law null or void if it finds violation of any provision of
the fundamental rights.




e Consider the following statements:

1. The Accelerated Irrigation Benefits Programme was
launched during 1996-97 to provide loan assistance to
poor farmers.

2. The Command Area Development Programme was
launched in 1974-75 for the development of water-use

efficiency.

Which of the statements given above is/are correct?

A) 1 only B) 2 only
C) Both 1 and 2 D) Neither 1 nor 2




e The Accelerated Irrigation Benefits Programme (AlB
launched during 1996-97 as a Central Assistance (CA)
programme for accelerating the implementation of larg
projects which were beyond the resource capability of the
States and completion of other irrigation projects which
were at an advanced stage but were delayed due to
resource constraints faced by State Governments.

Initially, the primary goal of AIBP was to speed up
completion of Major and Medium Irrigation (MMI) projects.
The coverage under AIBP was gradually expanded over the
years to include drought prone area of KBK districts of
Odisha and Minor Irrigation (MI) schemes of Special
Category States (SCS);




e The Command Area Development Programme (CAD
started initially in December 1974 to improve the irrig
potential utilization and optimize the agricultural
production and productivity through integrated and
coordinated approach of efficient water management.

The programme was to bridge the gap between irrigation
potential created and actually utilized in major and medium

irrigation schemes. This scheme was supposed to develop
adequate delivery of the irrigation water up to the fields.

Initially, 60 major and medium projects were taken,
covering a cultivable command area of 15 million hectares.
Till now 314 projects with a cultivable command area of
28.95 million have been taken. From eleventh five-year plan
onwards, scheme was implemented as a state sector
scheme.




¢ The Genetic Engineering Appraisal Committee is
constituted under the

A) Food Safety and Standards Act, 2006

B) Geographical Indications of Goods (Registration and
Protection) Act, 1999

C) Environment (Protection) Act, 1986

D) Wildlife (Protection) Act, 1972




¢ The Genetic Engineering Appraisal Committee (GEA
is a statutory body constituted under the 'Rules for the
Manufacture, Use /Import /Export and Storage of
Hazardous Microorganisms/Genetically ;
Engineering Organisms or Cells, 1989 notified under the
Environment (Protection) Act, 1986

The functions of GEAC as prescribed in the Rules 1989
are as follows: To appraise activities involving large
scale use of hazardous microorganisms and
recombinants in research and industrial production
from the environmental angle.




¢ In the Mekong-Ganga Cooperation an initiative of s
countries, which of the following is/are not a
participant/ participants

1. Bangladesh
2. Cambodia
3. China

4, Myanmar
5. Thailand

Select the correct answer using the code given below:

A) 1 only B)2,3and 4
C) 1 and 3 only D) 1, 2 and 5 only




¢ The Mekong-Ganga Cooperation (MGC) is an initiat
by six countries - India and five ASEAN countries,
namely, Cambodia, Lao PDR, Myanmar, Thailand and
Vietnam for cooperation in tourism, culture, education-_.
as well as transport and communications, MSMEs and
water resources management.

¢ |t was launched in 2000 at Vientiane, Lao PDR.

e The longest river in Southeast Asia and the 12th longest
on earth, the Mekong River stretches 4,350 km from
high on the Tibetan Plateau to the southeast, meanders
through Laos and Thailand to the equatorial flood plains
of Cambodia and Vietnam then finally flows into the
South China Sea.




e ‘Basel lll Accord’ or simply ‘Basel IlI’, often seen in
news, seeks to

A) develop national strategies for the conservation and
sustainable use of biological diversity

improve banking sector’s ability to deal with financial
and economic stress and improve risk management

reduce the greenhouse gas emissions but places a
heavier burden on developed countries

transfer technology from developed countries to poor
countries to enable them to replace the use of
chlorofluorocarbons in refrigeration with harmless
chemicals




Basel lll is an internationally agreed set of measures
developed by the Basel Committee on Banking Supervis
response to the financial crisis of 2007-09.

The Basel lll Guidelines are based upon 3 very important
aspects which are called 3 pillars of the Basel Il. These 3
pillars are Minimum Capital Requirement, Supervisory
review Process and Market Discipline.

Aim is to Improve the banking sector’s ability to absorb ups
and downs arising from financial and economic instability.
Improve risk management ability and governance of banking
sector. Strengthen banks' transparency and disclosures.

Basel lll reforms that will take effect from 1 January 2022
and will be phased in over five years.




e Consider the following statements:

1. The winds which blow between 30° N and 60° S
latitudes through-out the year are known as westerlies.
2. The moist air masses that cause winter rains in North-
Western region of India are part of westerlies.

Which of the statements given above is/are correct?




¢ |f the winds move from west to east, they are
called westerlies. If they move from east to west, they
called easterlies.

The winter westerlies, often from the southwest, bring

in warm tropical air; in summer, by contrast, they veer to the
northwest and bring in cooler Arctic or subarctic air. In
Mediterranean Europe the rain-bearing westerlies chiefly

affect the western areas, but only in winter.

The westerlies, anti-trades, or prevailing westerlies, are
prevailing winds from the west toward the east in the middle
latitudes between 30 and 60 degrees latitude. They originate
from the high-pressure areas in the horse latitudes and trend
towards the poles and steer extratropical cyclones in this
general manner.




o With reference to ‘Indian Ocean Rim Association fo
Regional Cooperation (IOR-ARC)’, consider the follo
statements :

1. It was established very recently in response to incidents
of piracy and accidents of oil spills. |

2. It is an alliance meant for maritime security only.

Which of the statements given above is/are correct?

)
) 2 only

) Both 1 and 2

) Neither 1 nor 2

A
B
C
D




¢ The Indian Ocean is the world's third-largest ocean
constitutes about 20 percent of the water on the Eart
surface.

It is bounded on the west by East Africa, on the north
by India, on the east by Indochina and Australia, and on
the south by the Southern Ocean off the coast of
Antarctica.

¢ The Indian Ocean is third largest water body of the world
that has vital sea lanes of communication crisscrossing it
and which feeds Asia’s largest economies. Around 80 per
cent of the world's seaborne oil trade passes through the
choke points of this ocean and therefore it literally
connects the east to the west.




¢ The Indian Ocean Rim Association (IORA) is a dyna
inter-governmental organisation aimed at strengtheni
regional cooperation and sustainable development
within the Indian Ocean region through its 22 Member
States and 10 Dialogue Partners.

It was established on 7 March 1997. HQ: Ebene,
Mauritius

It is based on the principles of Open Regionalism for
strengthening Economic Cooperation particularly on
Trade Facilitation and Investment, Promotion as well as
Social Development of the region.




e Which one of the following movements has contrib
to a split in the Indian National Congress resulting in
emergence of ‘moderates’ and ‘extremists’?

A) Swadeshi Movement

B) Quit India Movement
C) Non-Cooperation Movement

D) Civil Disobedience Movement




The Indian National Congress had a split into two gro
extremists and Moderates at the Surat session in 1907.

The moderates wanted “ras Bihari Ghosh"as president of the
Indian National Congress and Extremist wanted “Lala Lajpat
Rai" as president. |

The Moderates used petition, prayers, meetings, leaflets,
pamphlets, memorandum and delegations to present their
demands to the British government.

But the extremists believed in agitation, strikes, and boycotts.

The partition of Bengal drove the rise of extremism in INC.

Lokmanya Tilak and his followers held a separate conference
and formed the Extremist Party. However they decided to work
as a part of the INC.




In a particular region in India, the local people trai

roots of living trees into robust bridges across the
streams. As the time passes, these bridges become
stronger. These unique ‘living root bridges’ are found in"

A) Meghalaya
B) Himachal Pradesh
C) Jharkhand

D) Tamil Nadu




A living root bridge is a type of simple suspension bridge fo
of living plant roots by tree shaping.

They are common in the southern part of the Northeast Indian sta
of Meghalaya. '

The bridges have existed in Meghalaya since 1844.
There are 11 living root bridges in Meghalaya.

They are handmade from the aerial roots of rubber fig trees (Ficus
elastica) by the Khasi and Jaintia peoples of the mountainous terrain
along the southern part of the Shillong Plateau.

Mature bridges stretch 15 to 250 feet over deep rivers and gorges,
and can bear impressive loads—upwards of 35 people at a time. A
double-decker root bridge in Cheerapunji is one of the main
attractions in Meghalaya




e Tides occur in the oceans and seas due to which a
the following?

1.Gravitational force of the Sun
2. Gravitational force of the Moon
3. Centrifugal force of the Earth

Select the correct answer using the code given below:

A) 1 only B) 2 and 3 only
C) 1 and 3 only D)1, 2 and 3




Tides refer to the rise and fall of our oceans’ surfaces.
is caused by the attractive forces of the Moon and Sun’s
gravitational fields as well as the centrifugal force due to t

Earth’s spin. As the positions of these celestial bodies chang_,
so do the surfaces' heights.

There are four types of tides: High, Low, Spring & Neap

Neap: meaning that high tides are a little lower and low
tides are a little higher than average. Neap tides occur during

the first and third quarter moon, when the moon appears “half
full.”

Spring: the lowest tides reached under normal meteorological
conditions (the spring tides) take place when the Moon and
Sun are directly alighed with respect to Earth




¢ In which of the following activities are Indian Remc
Sensing (IRS) satellites used?

. Assessment of crop productivity
Locating groundwater resources

. Mineral exploration

. Telecommunications

. Traffic studies

Select the correct answer using the code given below:

A) 1, 2 and 3 only B) 4 and 5 only
C) 1 and 2 only D)1, 2, 3,4and 5




Remote sensing is the science of obtaining informat
about objects or areas from a distance, typically fro
aircraft or satellites.

IRS-1A, the first of the series of indigenous state-of-art
operating remote sensing satellites, which was
successfully launched into a polar sun-synchronous orbit
on March 17, 1988 from the Soviet Cosmodrome at
Baikonur.

It enabled India to map, monitor and manage its natural
resources at various spatial resolutions.

IRS system has 11 satellites




¢ Data from Indian Remote Sensing satellites are usec
various applications of resources survey and
management under the National Natural Resources
Management System (NNRMS)
- Disaster Management Support Programme
- Biodiversity Characterisation
- Crop production estimation
- Drought Monitoring
-Flood risk zone mapping
- Snow-melt run off estimates
- Urban Planning
- Forest survey, Wetland mapping
- Environment Impact Analysis
-Mineral Prospecting
- Coastal studies




e Consider the following States
1. Arunachal Pradesh

2. Himachal Pradesh

3. Mizoram

In which of the above States do ‘Tropical Wet Evergreen
Forests’ occur?

A) 1 only

B) 2 and 3 only
C) 1 and 3 only
D)1, 2and 3




e Moist tropical evergreen forests are found in The
plateau

* Tropical evergreen forests in our country are found ma
in the rainy tracts of the Sahyadris and the hill regions of
the Shillong plateau.

¢ Tropical evergreen forests are usually found in areas

receiving more than 200 cm of rainfall and having a
temperature of 15° Cto 30 ° C. They occupy about
seven per cent of the Earth’s land surface and harbour
more than half of the planet’s terrestrial plants and
animals.




e The term ‘IndARC’, sometimes seen in the news, is
name of

A) an indigenously developed radar system inducted into "
Indian Defence

B) India’s satellite to provide services to the countries of
Indian Ocean Rim

C) a scientific establishment set up by India in Antarctic
region

D) India’s underwater observatory to scientifically study
the Arctic region




INdARC is India’s first underwater moored observato
the Arctic region.

It was deployed in 2014 at Svalbard: Midway between
Norway and North Pole.

Its research goal is to study the Arctic climate and its
influence on the monsoon.

This moored observatory is desighed and developed by
Earth System Science Organisation (ESSO)- and others.




e With reference to ‘Forest Carbon Partnership Facility’,
of the following statements is/are correct?

It is a global partnership of governments, businesses, civil
society and indigenous peoples.

It provides financial aid to universities, individual scientists
and institutions involved in scientific forestry research to
develop eco-friendly and climate adaptation technologies

for sustainable forest management.

It assists the countries in their ‘REDD+ (Reducing Emissions
from Deforestation and Forest Degradation+)’ efforts by
providing them with financial and technical assistance.

Select the correct answer using the code given below:

A) 1 only B) 2 and 3 only
C) 1 and 3 only D)1, 2 and 3




e The Forest Carbon Partnership Facility (FCPF) is a
global partnership of governments, businesses, civil
society, and Indigenous Peoples focused on reducing
emissions from deforestation and forest degradation,
forest carbon stock conservation, the sustainable
management of forests, and the enhancement of forest
carbon stocks in developing countries, activities
commonly referred to as REDD+.

The FCPF works with 47 developing countries across
Africa, Asia, and Latin America and the Caribbean, along
with 17 donors that have made contributions and
commitments totaling $1.3 billion. The FCPF supports
REDD+ efforts through its Readiness and Carbon Funds.




e REDD refers to reducing emissions from deforestation a
forest degradation;

REDD+ refers to conservation of forest carbon stocks,
sustainable management of forests, and enhancement of forest
carbon stocks.

REDD+ was created through international negotiations under

the United Nations Framework Convention on Climate Change
(UNFCCC).

Forest carbon stock is the amount of carbon that has been
sequestered from the atmosphere and is now stored within the
forest ecosystem, mainly within living biomass and soil, and to
a lesser extent also in dead wood and litter.

Forest carbon stock prevents carbon emission into the
atmosphere




e Which one of the following was give
status recently?

A) Odia

B) Konkani
C) Bhojpuri

D) Assamese




¢ Six languages — Tamil, Telugu, Sanskrit, Kannada,
Malayalam and Odia — have been given
the status of classical languages. The status is granted
after determining the eligibility of the language,
recorded history of near 1500-2000 years, body of
ancient literature, among other standards.

e QOdia was given the status in 2014

e Recently in 2020, Marathi is being scrutinised for the
status of Classical language.




e With reference to an organization known as ‘Bird L
International’, which of the following statements is
correct?

It is a Global Partnership of Conservation
Organizations.

. The concept of ‘biodiversity hotspots’ originated from

this organization

It identifies the sites known/referred to as ‘Important
Bird and Biodiversity Areas’.

Select the correct answer using the code given below:

A) 1 only B) 2 and 3 only
C) 1 and 3 only D)1, 2and 3




¢ BirdLife International is a global partnership of
conservation organisations (NGOs) that strives to
conserve birds, their habitats and global biodiversity,
working with people towards sustainability in the use of
natural resources.

e |t was formed in 1922. HQ: UK

¢ |ts motto is ‘Partnership for Nature and People’




¢ Which one of the following countries o
does not open out to the Mediterranean Sea?

A) Syria
B) Jordan
C) Lebanon

D) Israel




e Mediterranean Sea, an intercontinental sea that stre
from the Atlantic Ocean on the west to Asia on the ez
and separates Europe from Africa.

The Mediterranean Sea region — the largest of the semi-
enclosed European seas — is surrounded by

22 countries, which together share a coastline of 46 000
km. It is also home to around 480 million people living

across three continents: Africa, Asia and Europe.

The countries surrounding the Mediterranean in
clockwise order are Spain, France, Monaco, ltaly,
Slovenia, Croatia, Bosnia and Herzegovina, Montenegro,
Albania, Greece, Turkey, Syria, Lebanon, Israel, Egypt,
Libya, Tunisia, Algeria, and Morocco; Malta and Cyprus
are island countries in the sea.




¢ |n India, in which one of the following types of fore
teak a dominant tree species?

A) Tropical moist deciduous forest
B) Tropical rain forest
C) Tropical thorn scrub forest

D) Temperate forest with grasslands




e Teak is not an evergreen tree. It is found in Tropica
moist deciduous forests

¢ |t is a large, deciduous tree that occurs in mixed
hardwood forests. Teak (Tectona grandis) has small,
fragrant white flowers arranged in dense clusters
(panicles) at the end of the branches.

e The large, papery leaves of teak trees are often hairy
on the lower surface

e Teak is native to South and southeast Asia mainly
Bangladesh, India, Indonesia, Malaysia, Myanmar,
Thailand, and Sri Lanka.




e ‘Beijing Declaration and Platform for Action’, often
seen in the news, is

A) a strategy to tackle, the regional terrorism, an
outcome of a meeting of the Shanghai Cooperation
Organization

a plan of action for sustainable economic growth in the

Asia-Pacific Region, an outcome of the deliberations of
the Asia-Pacific Economic Forum

an agenda for women’s empowerment, an outcome of
a World Conference convened by the United Nations

a strategy to combat wildlife trafficking, a declaration
of the East Asia Summit




The Fourth World Conference on Women, Having me
in Beijing from 4 to 15 September 1995

Determined to advance the goals of equality, development
and peace for all women

Acknowledging the voices of all women everywhere,

Equal status of women. Inequalities between women and
men have persisted and major obstacles remain,

increasing poverty that is affecting the lives, in particular
women,

empowerment of women all over the world

advancement of women, including the right to freedom of
thought, conscience, religion and belief




“Each day is more or less the same, the morning is ¢
and bright with a sea breeze; as the Sun climbs high
the sky, heat mounts up, dark clouds form, then rain
comes with thunder and lightning. But rain is soon
over.”

Which of the following regions is described in the above
passage?

) Savannah

) Equatorial

) Monsoon

) Mediterranean

A
B
C
D




Characteristics of equatorial climate.

¢ High mean annual temperature of about 27 degree C.

¢ Uniformly high temperatures of about 30 degree C with ony a
small annual range.

High relative humidity of about 80%.

Abundant rainfall of 2000mm on average.

Double maxima rainfall around April and October each year.
Rainfall are accompanied by thunder and lightning.

Absence of distinct dry season.




e With reference to Indian economy, consider the
following statements:

1. The rate of growth of Real Gross Domestic Product has"
steadily increased in the last decade.

2. The Gross Domestic Product at market prices (in
rupees) has steadily increased in the last decade.

Which of the statements given above is/are correct?

A) 1 only B) 2 only
C) Both 1 and 2 D) Neither 1 nor 2




¢ |t is calculated using the prices of a selected base ye
To calculate Real GDP, you must determine how
much GDP has been changed by inflation since the base
year, and divide out the inflation each year. Real GDP,
therefore, accounts for the fact that if prices change
but output doesn't, nominal GDP would change.

e Nominal GDP measures output using current prices,
but real GDP measures output using constant prices.

e GDP growth should stay ahead of population growth




e Gross domestic product at market prices is the su
the gross values added of all resident producers at ma
prices, plus taxes less subsidies on imports.

GDP (gross domestic product) at market price = value of
output in an economy in the particular year - intermediate
consumption at factor cost = GDP at market price -
depreciation + NFIA (net factor income from abroad) - net
indirect taxes.

GDP at market price is the sum total of gross value added
( GVA) in production / generation of all goods and services
within the country . GDP at factor cost is the sum total of
remuneration paid to various factors of production /
generation like rent , interest , dividend , wages .




e Consider the following statements:

1. The Legislative Council of a State in India can be larg
in size than half of the Legislative Assembly of that
particular State.

. The Governor of a State nominates the Chairman of
Legislative Council of that particular State.

Which of the statements given above is/are correct?

)
) 2 only

) Both 1 and 2

) Neither 1 nor 2

A
B
C
D




¢ The State Legislative Council is the upper house in
states of India that have a bicameral state legislature
lower house being the State Legislative Assembly. Its
establishment is defined in Article 169 of the Constitutioi
of India.

e 6 states have Legislative Council : Andhra Pradesh, Bihar,
Maharashtra, Telangana and UP.

e The upper house is called State Legislative Council (Vidhan
Parishad), one third of whose members are elected every
two years.

e The main functions of the Legislative Council are to enact
laws; examine and approve budgets, taxation and public
expenditure; and monitor the work of the Government.




e The Legislative Council has three main functions: tc
represent the people, to legislate and to scrutinise t
executive government as a 'House of review'.

The Legislative Council provides an alternative and
complementary system of representation to that of
the Legislative Assembly.

MLCs are chosen in the following manner: One third are

elected by the members of local bodies such as
municipalities, Gram panchayats, Panchayat samitis and
district councils. ... One twelfth are elected by persons
who are graduates of three years' standing residing in
that state.




e Under Article 169 of the Constitution, Parliament me
by law create or abolish the second chamber in a stat
if the Legislative Assembly of that state passes a
resolution to that effect by a special majority.

e As per article 171 clause (1) of the Indian Constitution,
the total number of members in the legislative council
of a state shall not exceed one third of the total
number of the members in the legislative Assembly of
that state and the total numbers in the Legislative
council of a state shall in no case be less than 40.

Legislative Councils are permanent Houses. One-third of
their members retire every two years.




e “To uphold and protect the Sovereignty, Unity and
Integrity of India” is a provision made in the

A) Preamble of the Constitution

B) Directive Principles of State Policy

C) Fundamental Rights

D) Fundamental Duties




e The Fundamental Duties' are defined as the moral
obligations of all citizens to help promote a spirit of
patriotism and to uphold the unity of India.

These duties set out in Part IV-A of the Constitution,
concern individuals and the nation.

Borrowed from USSR, Article 51-A, Introduced by 42"
Amendment in 1976. Initially 10, Added 11th with 86t"

Amendment | 2002

LIST

e Abide by the Constitution and respect national flag &
National Anthem

¢ Follow ideals of the freedom struggle




Protect sovereignty & integrity of India

Defend the country and render national services when
upon

Sprit of common brotherhood
Preserve composite culture
Preserve natural environment
Develop scientific temper
Safeguard public property

Strive for excellence

Duty for all parents/guardians to send their children in the
age group of 6-14 years to school.




¢ Which one of the following is the best description o
term ‘ecosystem’?

A) A community of organisms interacting with one
another

B) That part of the Earth which is inhabited by living
organisms

C) A community of organisms together with the
environment in which they live

D) The flora and fauna of a geographical area




An ecosystem is that it is a community or group of living org
that live in and interact with each other in a specific environ
Environment includes both biotic and abiotic surroundings.

Biotic components include plants, animals, decomposers. Non liv\ 0
components include air, water, land.

Ecosystem as a system regulates the essential ecological processes,
supports life systems and renders stability. It is also responsible for

the cycling of nutrients between biotic and abiotic components. It
maintains a balance among the various trophic levels in the
ecosystem.

We, ourselves, live in a terrestrial ecosystem.

Ecosystem is a part of natural environment consisting of a
community of living beings and the physical environment both

constantly interchanging materials and energy between them.




e The fundamental object of Panchayati Raj system is
ensure which among the following?

1. People’s participation in development

2. Political accountability

3. Democratic decentralization

4. Financial mobilization

Select the correct answer using the code given below:

) 1, 2 and 3 only
) 2 and 4 only
) 1 and 3 only
)1, 2, 3 and 4

A
B
C
D




Panchayati Raj is to have peoples participation in
administration

Panchayati Raj is a system of rural local self-
government in India.

The prime objectives of the three tier Panchayati Raj
System are to curb poverty, uplift standard of living of

people in the rural areas, and enhance a healthy and
wealthy society by creating awareness among them
about hygiene, sanitation and eradication of illiteracy.

Panchayati Raj system exists in all states
except Nagaland, Meghalaya, and Mizoram, and in all
Union Territories except Delhi.




e With reference to Indian economy, consider the
following:

1. Bank rate

2. Open market operations
3. Public debt

4. Public revenue

Which of the above is/are component/components of
Monetary Policy?

A) 1 only B) 2, 3 and 4 only
C) 1 and 2 only D) 1, 3 and 4 only




Monetary policy is the macroeconomic policy laid @

the central bank. It involves management of money st
and interest rate and is the demand side

economic policy used by the government of a country to
achieve macroeconomic objectives like inflation, :
consumption, growth and liquidity.

Open market operations involve the buying and selling of
government securities.

Changing the discount rate offered to member banks or
altering the reserve requirement of how much money
banks must have on hand before lending.

Monetary policy can be broadly classified as either
expansionary or contractionary.




e With reference to inflation in India, which of the
following statements is correct?

Controlling the inflation in India is the responsibility of
the Government of India only

The Reserve Bank of India has no role in controlling the
inflation

Decreased money circulation helps in controlling the
inflation

Increased money circulation helps in controlling the
inflation




Inflation is a general increase in prices and fall in t
purchasing value of money.

Decreased money circulation helps in controlling the
inflation

Inflation can occur when prices rise due to increases in
production costs, such as raw materials and wages. A surge
in demand for products and services can cause inflation as
consumers are willing to pay more for the product.

In a fast-growing economy, incomes go up quickly and more
and more people have the money to buy the existing bunch
of goods. As more and more money chases the existing set
of goods, prices of such goods rise




e Consider the following countries:

1. China
2. France
3. India

4. Israel

5. Pakistan

Which among the above are Nuclear Weapons States as
recognized by the Treaty on the Non-Proliferation of
Nuclear Weapons, commonly known as Nuclear Non-
Proliferation Treaty (NPT)?

A) 1 and 2 only
C) 2, 4 and 5 only




The NPT is a landmark international treaty whose
objective is to prevent the spread of nuclear

weapons and weapons technology, to promote coopera

in the peaceful uses of nuclear energy and to further the
goal of achieving nuclear disarmament and general and
complete disarmament.

Nuclear weapon states: US, Russia, China, France, and UK

Outside the Treaty: South Sudan, India, Israel, and
Pakistan

Joining the treaty means, Dismantling of the nuclear
weapons and placing their nuclear materials under
international safeguards.




e The ideal of ‘Welfare State’ in the Indian Constitut
enshrined in its

A) Preamble

B) Directive Principles of State Policy

C) Fundamental Rights

D) Seventh Schedule




Directive Principles of State Policy aim to create social ancd
economic conditions under which the citizens can lead a gooc

Part IV of the constitution of India contains 20 directive principles
states policy from Article 36 to Article 50. '

The aim of the Directive Principles was to set up certain social and
economic goals before the law makers to bring about social change

in the country in direction of greater social and economic equality.

The basic objective of the directive principles is to create a
“welfare” state.

Directive Principles are classified under the following categories:
Gandhian, economic and socialistic, political and

administrative, justice and legal, environmental, protection of
monuments and peace and security.




e Article 40 of the Constitution which enshrines one ¢
Directive Principles of State Policy lays down that the
shall take steps to organise village panchayats and endc
them with such powers and authority as may be necessary
to enable them to function as units of self-government.

Article 41 of the Constitution provides that “the State
shall within the limits of its economic capacity and
development, make effective provision for securing the
right to work, to education and to public assistance in
cases of unemployment, old age, sickness and disablement

Article 44 of the Directive Principles in the Constitution
says the “State shall endeavour to provide for its citizens a
uniform civil code (UCC) throughout the territory of
India.”




e The Substitution of steel for wooden ploughs in
agricultural production is an example of

A) labour-augmenting technological progress

B) capital-augmenting technological progress
C) capital-reducing technological progress

D) None of the above




Production can be increased by labour or capital -
augmenting technological improvements.

Capital augmenting technological improvements are
considered better

While the wage rate, the rental price of labour, has
increased at a rapid rate, the interest-rate, the rental

price of capital, has remained approximately constant.

In the long run capital augmenting technological
improvements turn out to be more economical




e There is a Parliamentary System of Government in
because the

A) Lok Sabha is elected directly by the people

B) Parliament can amend the Constitution
C) Rajya Sabha cannot be dissolved

D) Council of Ministers is responsible to the Lok Sabha




¢ Definition of parliamentary government : a system
of government having the real executive power veste
a cabinet composed of members of the legislature who
are individually and collectively responsible to the
legislature has a democratically elected parliamentary
government.

In a parliamentary system, Parliament is sovereign and

executive authority (exercised by the Prime Minister and
Cabinet) is derived from the legislature.

In contrast, in a presidential system, political and
administrative powers are divided between the executive,
legislative and judicial branches.




e HINI virus is sometimes mentioned in
reference to which one of the following ¢

A) AIDS
B) Bird flu
C) Dengue

D) Swine flu




H1N1 virus causes Swine Flue

It's called swine flu because in the past, the people
who caught it had direct contact with pigs.

This new H1N1 virus contained a unique combination of
influenza genes not previously identified in animals or
people.

The designation “H1N1” indicates unique traits, which
exhibit characteristics that identify the virus to the
immune system and allows for attachment and
replication of the virus. The “H” (hemagglutinin) and
the “N” (neuraminidases) are both proteins that are
found on the outer shell or envelope of the virus.




e With reference to bio-toilets used by the Indian
Railways, consider the following statements:

. The decomposition of human waste in the bio-toilets is
initiated by a fungal inoculums.

. Ammonia and water vapour are the only end products
in this decomposition which are released into the
atmosphere.

Which of the statements given above is/are correct?

A) 1 only

B) 2 only

C) Both 1 and 2
D) Neither 1 nor 2




¢ Bio-digester technology treats human waste at the
source.

e A collection of anaerobic bacteria that has been

adapted to work at temperatures as low as -5° C and as
high as 50° C.

¢ Inocula (seed material) to the bio-digesters and convert
the organic human waste into water, methane, and
carbon-dioxide.




e The problem of international liquidity is related to
non-availability of

A) goods and services
B) gold and silver

C) dollars and other hard currencies

D) exportable surplus




The problem of international liquidity is associate
the problem of international payments.

These payments arise in connection with international =
trade in goods and services and also in connection with
capital movements between one country and another.

IMF offers borrowing facilities to its member countries to

meet their deficits in the balance of payment arising from
the fluctuations in export earnings beyond their control.
Such borrowing facilities are useful to meet with

the problem of world liquidity.

Liquidity reserves include a country's official gold stock
holdings, its convertible foreign currencies, SDRs, and its
net reserve position in the IMF.




e With reference to ‘fuel cells’ in which hydrogen-ric
fuel and oxygen are used to generate electricity,
consider the following statements:

If pure hydrogen is used as a fuel, the fuel cell emits
heat and water as by products.

Fuel cells can be used for powering buildings and not
for small devices like laptop computers

. Fuel cells produce electricity in the form of
Alternating Current (AC).

Which of the statements given above is/are correct?

A) 1 only B) 2 and 3 only
C) 1 and 3 only D)1, 2and 3




e Afuel cell is a device that converts chemical potential ¢
(energy stored in molecular bonds) into electrical energy.
PEM (Proton Exchange Membrane) cell uses hydrogen gas (!
and oxygen gas (0O,) as fuel.

The products of the reaction in the cell are water, electricity,
and heat.

H2 fuel cells currently in production have a life expectancy
of from 5,000 to 10,000 hours.

Hydrogen fuel cell vehicles tend to be more frugal than their
battery electric counterparts

No vehicle emissions other than water vapor. Fuel
economy equivalent to about twice that of gasoline vehicles




e Kalamkari painting refers to
A) a hand-painted cotton textile in South India

B) a handmade drawing on bamboo handicrafts in North-
East India

C) a block-painted woollen cloth in Western Himalayan

region of India

D) a hand-painted decorative silk cloth in North-Western
India




Kalamkari is a type of hand-painted or block-printed
textile, produced in Isfahan and Indian states of Andhra
Pradesh and Telangana. Only natural dyes are used

in Kalamkari and it involves twenty-three steps.

There are two distinctive styles of kalamkari art in India -
Srikalahasti style and the Machilipatnam style.

As an art form it found its peak in the wealthy Golconda
sultanate, Hyderabad, in the Middle Ages. The Mughals who
patronized this craft in the Coromandel and Golconda
province called the practitioners of this craft "qualamkars”,
from which the term "kalamkari” evolved.

Kalamkari art is an Indian traditional art in the field of ladies
wear. Kalamkari art is done by natural dyes made out of
vegetables, leaves and some roots, iron rust etc.




e Which one of the following best describes the main
objective of ‘Seed Village Concept’?

A) Encouraging the farmers to use their own farm seeds
and discouraging them to buy the seeds from others

B) Involving the farmers for training in quality seed
production and thereby to make available quality
seeds to others at appropriate time and affordable
cost

Earmarking some villages exclusively for the
production of certified seeds

|dentifying the entrepreneurs in villages and providing
them technology and finance to set up seed companies




e Avillage, wherein trained group of fanners are invol
production 'of seeds of various crops and cater to the
of themselves, fellow fanners of the village and fanners
neighbouring villages in appropriate time and at affordab
cost is called “a seed village”. \

Seed village concept is to promote the quality seed
production of foundation and certified seed classes. The

area which is suitable for raising a particular crop will be
selected, and raised with single variety of a kind. Suitable
area for seed production will be identified by the Scientists.




e There has been a persistent deficit budget year afte
year. Which of the following actions can be taken by t
government to reduce the deficit?

1. Reducing revenue expenditure

2. Introducing new welfare schemes
3. Rationalizing subsidies

4. Expanding industries

Select the correct answer using the code given below:

A) 1 and 3 only B) 2 and 3 only
C) 1 only D) 1, 2, 3 and 4




A budget deficit occurs when expenses exceed reve
and indicate the financial health of a country.

The budget deficits are not good in long term as it
forces private borrowing, force to manipulate capital
structures and interest rates, decrease net exports, and
lead to either higher taxes, higher inflation or both.

The deficit spending can help promote higher growth,
which will enable higher tax revenues and the deficit
will fall over time.

Deficit budget in recession is good as government
spending may boost the economy and increase
consumption.




e Which of the following has/have been accorded
‘Geographical Indication’ status?

1. Banaras Brocades and Sarees

2. Rajasthani Daal-Bati-Churma

3. Tirupathi Laddu

Select the correct answer using the code given below:

) 1 only

) 2 and 3 only
) 1 and 3 only
)1, 2 and 3

A
B
C
D




Gl tags are issued as per the Geographical Indicatio
Goods (Registration and Protection) Act,1999.

This tag is issued by the Geographical Indication Regist
under the Department of Industry Promotion and Internal
Trade, Ministry of Commerce and Industry.

A geographical indication (Gl) is a sign used on products
that have a specific geographical origin and possess
qualities or a reputation that are due to that origin

Geographical indications (Gls) identify a good as
originating from a particular place.

By contrast, a trademark identifies a good or service as
originating from a particular company.




e With reference to the Indian Renewable
Energy Development Agency Limited (IREDA), which c
the following statements is/are correct?

1. It is a Public Limited Government Company.
2. It is a Non-Banking Financial Company.

Select the correct answer using the code given below:




¢ |Indian Renewable Energy Development Agency Limite
(IREDA) is a Mini Ratna (Category - |) Government of
India Enterprise under the administrative control of

Ministry of New and Renewable Energy (MNRE).

e |IREDA is a Public Limited Government Company
established as a Non-Banking Financial Institution in

1987

e |REDA is engaged in promoting, developing and
extending financial assistance for setting up projects
relating to new and renewable sources of energy and
energy efficiency/conservation.

e Have the motto: “ENERGY FOR EVER”
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